14GA. MIN. CENTER
HINGE ATTACHED

13 GA. GALV. (e) W/ (4) 1/4" x 1" SCREWS ATTACHED W/ (4) 1/4"
COMMERCIAL TOP x 1" SCREWS
ROLLER BRACKET o
ATTACHED W/(2) 1/4" x 1"
SCREWS PER BRACKET
o
ADJUSTABLE ROLLER CARRIER
2" 10 BALL STEEL OR 10
BALL NYLON LON 000 ATTACHED W/(2) 5/16" x 3/4" o 2" 10 BALL STEEL OR 6063 T6 ALUMINUM
STEM ROLLERS BOLT & NUT PER BRACKET 10 BALL NYLON / 050" WALL THICKNESS (TYP.)
SHORT STEM I ANODIZED OR POWDER COAT
TYPICAL TOP FIXTURES 1 ROLLERS (MIN.) FINISH
N.T.S.
TYPICAL CENTER HINGE o) S
N.T.S. TYPICAL END HINGE T
3
N.T.S.
\ AV
N v | [
(] mo— I
Y~ I~
0
/7 7/ fﬁ i
2 Y/ in
DOOR HEIGHT M COMMERCIAL TONGUE AND GROOVE
A
/ / / / |_~SLIDE LoCKs WEATHERTIGHT SEAL |
. 3 (2 PLACES) i
'@; al MINIMUM 14 GA
v GLAZING INFILL / GRADUATED ROLLER
24" TYPICAL //// //// /// i\iﬁNﬁ\I/\[]gf/IALED DSB E@ HINGES
[ | ~40
SECTION
m 4 \/ : =
\ 2" SECTION THICKNESS
TYPICAL \— ROLL GRIP /
) PANEL LIFT HANDLE A
9!_2” mv
DOOR WIDTH 13GA. MIN.
o o BOTTOM BRACKET ||
DOOR INTERIOR ELEVATION ﬁuT XAICHSE(];)RYEV\Q/(SS) REV | DESCRIPTION OF REVISIONS DATE  [BY
0 A
o 0o ,_‘\\\\\\
MP'\,X SIZE' .-"-;‘\E.Q-,-:‘.Tﬁr\\\i This document has been
=S 2 10 BALL STEEL OR VL X2 | ZQE Y e, el e iy
Lo 10 BALL NYLON DESIGN LOADS|| 2,7 . -.gna‘t_\xr% on the date shown.
LONG STEM +28.2 PSF || PRl Sl deRomE 4 printed copies o ths
ROLLERS (MIN.) —-33.1 PSF f,' .............. g Cogg&@ﬁﬂ;;gst&
fl‘%xo"-,__ ‘fCENS@ éﬁ'j sealed, and th_e signature
TYPICAL BOTTOM BRACKET @ 3-1/2" U-SHAPED TEST LOADS l‘\':\‘s'sioNA\,E“(:\i: mugltelz(;_r\é%glcegpci)g:ny
N.T.S. BOTTOM SEAL +42.3 PSF BN
~496 PST I Thomas L Sumeasce®merst
DN: c=US, o=North Carolina,
ALUMINUM SECTION Shelmerdine fa: s
2X6 No. 1/No. 2 SYP OR SPF WOOD JAMB PROFILE Date: 2022.04.2110:25:24 0400
| 92" / Thomas L. Shelmerdine, PE (TX PE #85829)
S | Solutions, PA (TX Firm #F-004063
JAMB SEAL OPENING WIDTH 5t9rélf—tér\7\/. gri%tr:?irllysAve.(, Gregrrgboro, NC 2';410 TX
OPTIONAL " t5/16" x 1 5/8" LAG SCREW (1) PER JAMB BRACKET
]/ L ]/ L
7/ 7/ arr,
THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE WITH THE
1/4-20 x 5/8"TRACK SPLICE
- 77 @ 7/ i BOLT AND NUT PROCEDURES DESCRIBED IN ASTM E330, AND ANSI/DASMA 108. THE
PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING ASCE

.051" MIN TRACK

2" BRACKET MOUNT TO WOOD JAMB DETAIL

INTERMEDIATE _/

HINGES 14GA

ROLLER
HINGE 14GA

14GA. MIN. END HINGE

OR (2) RIVETS

2"-10 BALL STEEL OR 10 BALL NYLON

SHORT STEM ROLLERS

(LONG STEM ROLLERS USED IN
TOP AND BOTTOM FIXTURES IN
DOORS OVER 8' TALL)

7-16 WITH THE FOLLOWING PARAMETERS
(5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10° OR LESS):

MODEL 3550 AMARR 3552
AMARR VISTA

DRAWING NUMBER

IBC-3609-140-00

WIND SPEED (MPH) [ 180 [ 163 | 155 [ 148 [ 142 SZE| DRAWNBY BHG | DATE 41410
EXPOSURE LEVEL B ¢ C D D B CHECKEDBY DRC | DATE #/14/10
MEAN ROOF HEIGHT[ 30" [ 15" | 25° | 15 | 25

AMARR COMPANY

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

SHEET 1 OF 3




DOOR HEIGHT

ITW BUILDEX 1/4"-14 X 3/4"
SELF-TAPPING SCREWS

VERTICAL LIFT

 ——

12 GA. OR 3/16" STEEL

(TEKS) / (SEE BELOW)

CLIP STYLE REVERSE ANGLE MOUNT SHOWN

BRACKET, CONTINUOUS AND TAPERED ANGLE

MOUNT AVAILABLE

12 GA. STEEL FRAMING

232 LBS./SCREW ALLOWABLE LOAD - 6" FROM ENDS

AND 18" O.C.
REFER TO NOTES: 1,2 AND 5

3/16" STEEL FRAMING

TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

1/8" NOM X 1" LONG

FILLET WELD (E60xx SAME SPACING AS
ELECTRODES MIN.) FILLET WELD
Tzzrrr777777)

REVERSE ANGLE MOUNT SHOWN
BRACKET, CONTINUOUS AND TAPERED
ANGLE MOUNT AVAILABLE

STEEL FRAMING 12GA OR BETTER
1590 LBS./IN. ALLOWABLE LOAD - 6"
FROM ENDS AND 24" O.C.

REFER TO NOTES: 1,2, 5, 6,7, 8 AND 9

569 LBS./SCREW ALLOWABLE LOAD - 6" FROM ENDS

AND 24" O.C.
REFER TO NOTES: 1,2 AND 5

STANDARD LIFT
LOW HEADROOM

HIGH LIFT
=

L L

2" (.051 MIN.) OR 3" (12 GA. MIN.) VERTICAL TRACK

AVAILABLE TRACK CONFIGURATIONS
N.T.S.

NOTES:

1.

2.

1/4" LONG TACK WELD

2000 PSI MIN. SIMPSON STRONG-TIE 3/8"@
CONCRETE WEDGE-ALL EXPANSION
\ ANCHOR WITH 7/8"@® WASHER.
1-3/4"MIN. EMBEDMENT

2-5/8" THICK
WALL MIN.
(1.5 x EMBEDMENT)

3" MIN. EDGE
DISTANCE

CLIP STYLE CONTINUOUS ANGLE MOUNT SHOWN
BRACKET, REVERSE AND TAPERED ANGLE MOUNT
AVAILABLE

2000 PSI CONCRETE OR GREATER

351 LBS/EXPANSION ANCHOR ALLOWABLE LOAD - 6"
FROM ENDS AND 24" O.C.

REFER TO NOTES: 1, 2, 3,4 AND 5

2000 PSI MIN.

2-5/8" THICK
WALL MIN.
(1.5 x EMBEDMENT)

DOOR TRACK ATTACHVENT SPLICE

HBGHT A| B| C| D| E| F| G| H| I J | K S
7 |10'|38" |*57" 76"
8 |10'|34" |58 a8
ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND FLOOR. g [10]x |58 |2 100"
FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM 10, 10, 34" 58, 82, , 112“
ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE 11 [10'34" |38" |8 | 106 12
DOOR OPENING. 12 |10"|34" |58" |82" (106" 136"
MIN. EGDE DISTANCE OF 3" REQUIRED. 1‘2 18 z g g 1@ 12 Eg
USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER. 15 [10'[34" |58' 82" [106"| 130|154 172"
SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED 16 10: 34 58 82: 106: 130: 154 , 184‘:
PROFESSIONAL ENGINEER FOR WIND LOADS IN ADDITION TO OTHER LOADS. 17 10734 |38 |82' |106"| 130" [154"| 178 196
18 [(10'|34" |58" (82" |106"|130'(154"| 178" 208"
MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL NECESSARY T e T2y 1 PPV Py pr—, p— ;
PRECAUTIONS WHEN WELDING GALVANIZED STEEL. 19 1034" 58" (82" 106" 130" 154") 1787 202 20
20 |10'|34" |58" (82" |106"|130"| 154" | 178" | 202" 232'
ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER OR INSPECTED BY A 21 10|z [58' &2 11061301540 178" | 202 | 208" um"
CERTIFIED WELDING INSPECTOR TO VERIFY THE INTEGRITY OF THE WELD. > 10132 |58 |82 110671130 152 [ 178" 202 | 208" 5"
FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE SURFACE. 23 [10'[34" |58" (82" |106"[130"| 154" | 178" |202'| 226" | 250" | 268"
24 |10'|34" |58" [82' |106"|130"| 154" | 178" | 202" | 226" | 250" | 280"

TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT ROTATION OF TRACK % g e

ANGLE.

CONCRETE \

SIMPSON STRONG-TIE 3/8"Q
SLEEVE-ALL EXPANSION
ANCHOR WITH 7/8"@ WASHER.
1-3/4"MIN. EMBEDMENT

3" MIN. EDGE

DISTANCE

CONTINUOUS ANGLE MOUNT SHOWN

BRACKET, CONTINUOUS AND TAPERED ANGLE
MOUNT AVAILABLE

2000 PSI CONCRETE OR GREATER

336 LBS./EXPANSION ANCHOR ALLOWABLE LOAD - 6"
FROM ENDS AND 24" O.C.
REFER TO NOTES: 1,2,3,4 AND 5

DESIGN LOADS|| 7z, &
+28.2 PSF &d.Digitel 25 L

REV | DESCRIPTION OF REVISIONS DATE  [BY
MAX' SIZE __-“f"‘\\\\\‘\\‘ This document has been
92" x 24 :“%«?.: T4V, digitally signed & sealed by

), Thomas L. Shelmerdine, PE

on the date shown.
) Printed copies of this

THOM
— e s e document are not
33.1 PSP ’, <. 85829 _:'q_ ; considered signed &
P % < sealed, and the signature
W% ;ICENSEQQ\%Q;: must be verified on any
TEST LOADS \\\ SIONA\,E‘_‘___,— electronic copies.
+42.3 PSF AR
—49.6 PSF
Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F—004063; TX
5921-G W. Friendly Ave., Greensboro, NC 27410
MODEL 3550 AMARR 3552
AMARR VISTA
SIZE| DRAWNBY BHG DATE  4/14/10 DRAWING NUMBER
B | cHEckeDBY DRC | DATE 41410 IBC-3609-140-00
AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 2 OF 3




SPECIFICATIONS

1.  ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, FROM THE TRACK

THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER
RECEIVES NO PORTION OF THE LOAD TRANSFERRED FROM THE DOOR

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+129.3 LBS/FT & -151.7 LBS/FT.

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED AND INSTALLED WITH STANDARDS
AS SET FORTH BY DASMA.

4.  SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED PROFESSIONAL
ENGINEER FOR WIND LOADS INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

5. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH THE 2018 IRC/IBC

12 GA (MIN.) VERTICAL ANGLE
ATTACHED TO WOOD JAMB W/
(3) 5/16 DIA. X 1-5/8" LAG BOLTS
AND TO TRACK W/ (4) 1/4"-20 x
5/8" TRACK SPLICE BOLTS AND
NUTS

)

© 00000000 o

[

24" 0.C.
(MAX)

24" 0.C.
(MAX)

SPLICE TRACKS AT THIS LOCATION

SECURE TO JAMB WITH (3) 5/16" DIA.
x 1-5/8" LAG BOLTS

(1) 5/16" DIA. x 1-5/8"

LAG BOLT ATTACHED TO JAMB
/AT EA. JAMB BRACKET

12 GA. GALV. STEEL
JAMB BRACKETS ATTACHED

TO TRACK W/ (1) 1/4"-20 x 5/8"
TRACK SPLICE BOLT & NUT

TRACK ATTACHMENT CAN BE
BRACKET MOUNT, CONTINUOUS,
REVERSE ANGLE MOUNT OR
TAPERED REVERSE ANGLE MOUNT.
(SEE AVAILABLE TRACK
CONFIGURATIONS ON PAGE 2)

ALL TRACK BRACKETS AND TRACK

10"

CLIPS ARE ATTACHED TO TRACK
WITH (2) RIVETS OR (1) 1/4"-20 BOLT &
NUT

ALL TRACK BRACKETS OR TRACK
CLIPS ARE TO FOLLOW SPACING AS
INDICATED

TRACK CONFIGURATION FOR UP TO 24' TALL DOORS

W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS

INTERIOR OF GARAGE

MAX. DOOR
WIDTH 9'-2"

DESIGNLOADSHJflflflfH

+129.3 LBS/FT
-151.7 LBS/FT

TABLE 2

SEE SPECIFICATION 2

TRACK CONNECTION TO WOOD

JAMB OPTIONS

FOR LAG SCREWS & BRACKET SPACING SEE TABLE 1

BRACKET MOUNT

5/16" x 1 5/8" LAG SCREW (1) PER
JAMB BRACKET (1-1/2" EMBEDMENT
MINIMUM) (TYP.)

50-7/8"
MAX

20-13/16"

MAX

S0

GLAZING FASTENER DETAIL
N.T.S.

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

CONTINUOUS ANGLE MOUNT

REVERSE ANGLE MOUNT

2x6 WOOD JAMB SYP
(NO.2) OR BETTER (TYP.)

SNAP IN ALUMINUM

/ GLAZING BEAD

REV | DESCRIPTION OF REVISIONS

DAE  |BY

1 2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
ection Center Max Design Loads G e o T L . (1 1/2" EMBEDMENT)
S H 2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PS| CONCRETE
. Stlle Allowed HILTI KWIK BOLT 3/8' X 4" STARTING 6" FROM ENDS THEN 24" O.C. (2 1/2" EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8" X 2—-3/4" STARTING 6" FROM ENDS THEN 24" 0.C. (1 1/4"” EMBEDMEN
Wldth 11 HH ITW/RAMSET REDHEAD /U BOL {': :3" X 4" STAI;"HNG 6" FROM ENDS THEN 24-g' O({ -2 1/2" EM;ZIDMEN
(ft) 1St POS|t|Ve Negltlve Z_X/_UEBIIQALJAMB_(;]R;_FA_QHMEBL{O_HQLLQJN_C;@_ELQ_QK o ey K
(|n) (PSF) (PSF) glh(d:PS(?Nﬂ/éﬂ- E:(AB:::DMTII-;I-I\IIET,; SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS (3 APART) AT 24
HILTI 1/4-" X 2—3/4-" KWIK—CON I+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS (3" APART)
AT 24" 0.C. (1 1/4" EMBEDMEN
8' 0" 48" 32 1 37 7 MMMMBMRMI&&MMM
8. o 49,, 3 14 369 I(-ICI)IR'I:I SIS.EE\gslT\EﬁEISSR so/: HgLfgva/g—Q%TABRITCIJNC(I;()S FROM ENDS THEN 24" 0.C. (1 1/4" EMBEDMENT)
8| 4|| 50u 308 362 :IﬁAé(é%AARlX%O%OLOTE V?éy)DBEAﬁggN-BrERCS)}FJITK TO PROVIDE A FLUSH MOUNTING SURFACE.
\ \ \ \
] n n
g 16| o 30.2 35.5 S| SR A\ (SR
8 [ 8| 52 29.6 34.8 = ' ' '
. . 5
8 [10"] 53" 29.1 34.1 = = i
. . T T |=}
1 n n
9 O 54 28 . 5 33. 5 1/2" MIN 2-3/4" MIN 1-1/2" MIN 4"
9 [ 2"] 55" 28.2 33.1 206 e .
: - TYP. 3" MIN

MAX SIZE
92" x 24

DESIGN LOADS

+28.2 PSF
—33.1 PSF

TEST LOADS
+42.3 PSF
—49.6 PSF

SNy
~<eOFT, This document has been
= ‘?-‘. ------- §*‘q ),  digitally signed & sealed by

i c’ ), Thomas L. Shelmerdine, PE
|gnat\1,r on the date shown.
Printed copies of this
document are not
considered signed &
sealed, and the signature
must be verified on any
electronic copies.

r,4-._ 85859 .-Q,j

\\\\'h"'

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)
5921-G W. Friendly ‘Ave., Greensboro, NC 27410

arr,

MODEL 3550 AMARR 3552
AMARR VISTA

SIZE| DRAWNBY BHG | DATE 414110 DRAWING NUMBER
B | cHEckepBy DRC | DATE 41410 IBC-3609-140-00
AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 30F 3




	p1
	p2
	p3

		2022-04-21T10:25:24-0400
	Thomas L Shelmerdine




